Bid Abstract 2024 Overlay Projects SAP 051-601-017

				Engineer	's Estimate	Duininck, Inc.		Central Specialties	
Number	Description	Unit	Contract Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
	SHOULDER EXCAVATION	LIN FT	39521	\$1.00	\$39,521.00	\$0.53	\$20,946.13		\$9,880.25
			.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	7 - 1 0 0	107,000	7 0.00	4200 10120	70.20	47,000.20
2118.5	AGGREGATE SURFACING CLASS 1	TON	2925	\$22.50	\$65,812.50	\$22.65	\$66,251.25	\$22.00	\$64,350.00
2232.5	MILL BITUMINOUS SURFACE (2")	SO YD	556	\$3.00	\$1.668.00	\$10.00	\$5,560.00	\$8.00	\$4,448.00
	(2)	~ (70.00	7 - , 0 - 0 - 0 - 0	420100	40,00000	70100	+ 1,11000
2360.5	TYPE SP 12.5 WEARING COURSE MIXTUR	TON	7610	\$72.00	\$547,920.00	\$66.00	\$502,260.00	\$71.25	\$542,212.50
2360.5	TYPE SP 12.5 BIT. MIXTURE FOR PATCHIN	TON	1450	\$80.00	\$116,000.00	\$73.00	\$105,850.00	\$83.00	\$120,350.00
2582.5	4" SOLID LINE PAINT	LIN FT	52561	\$0.18	\$9,460.98	\$0.150	\$7,884.15	\$0.150	\$7,884.15
2582.5	24" SOLID LINE PAINT	LIN FT	22	\$7.50	\$165.00	\$7.000	\$154.00	\$7.000	\$154.00
2582.5	4" BROKEN LINE PAINT	LIN FT	3970	\$0.18	\$714.60	\$0.150	\$595.50	\$0.150	\$595.50
2582.5	PAVEMENT MESSAGE PAINT	SQ FT	98	\$6.50	\$637.00	\$7.500	\$735.00	\$7.500	\$735.00
				Engineer's		Duininck,	\$710,236.03	Central	\$750,609.40
				Estimate	\$781,899.08	Inc. Total	9.17% Under	Specialties Total	4.00% Under

Bid Abstract 2024 Overlay Projects SP 051-604-031

				Enginee	Engineer's Estimate		Duininck, Inc.		pecialties
			Contract						
	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
	REMOVE CURB AND GUTTER	LIN. FT.	584	\$7.50	\$4,380.00	\$14.00	\$8,176.00	\$13.48	\$7,872.32
	REMOVE CONCRETE SIDEWALK	SQ. FT.	2598	\$6.80	\$17,666.40	\$2.00	\$5,196.00	\$6.56	\$17,042.88
2104.6	REMOVE AND REPLACE BITUMINOUS PAVEMENT	SQ. FT.	1168	\$16.00	\$18,688.00	\$9.50	\$11,096.00	\$18.00	\$21,024.00
2106.6	SHOULDER EXCAVATION	LIN. FT.	77118	\$1.00	\$77,118.00	\$1.40	\$107,965.20	\$0.90	\$69,406.20
2118.5	AGGREGATE SURFACING CLASS 1	TON	6250	\$22.50	\$140,625.00	\$23.55	\$147,187.50	\$25.00	\$156,250.00
2232.5	MILL BITUMINOUS SURFACE (2.0")	SQ. YD.	9744	\$3.00	\$29,232.00	\$3.60	\$35,078.40	\$5.00	\$48,720.00
2360.5	TYPE SP 12.5 WEARING COURSE MIXTURE (2,B)	TON	18710	\$72.00	\$1,347,120.00	\$65.75	\$1,230,182.50	\$70.14	\$1,312,319.40
2360.5	TYPE SP 12.5 BIT. MIXTURE FOR PATCHING (2,B)	TON	3600	\$80.00	\$288,000.00	\$73.00	\$262,800.00	\$78.00	\$280,800.00
2504.6	ADJUST GATE VALVE	EACH	12	\$225.00	\$2,700.00	\$300.00	\$3,600.00	\$350.00	\$4,200.00
2504.6	ADJUST CURB STOP	EACH	1	\$275.00	\$275.00	\$300.00	\$300.00	\$350.00	\$350.00
2506.5	ADJUST FRAME AND RING CASTING	EACH	19	\$250.00	\$4,750.00	\$750.00	\$14,250.00	\$800.00	\$15,200.00
					·				·
2521.6	CONCRETE WALK	SQ. FT.	2424	\$9.00	\$21,816.00	\$15.00	\$36,360.00	\$15.81	\$38,323.44
					·				·
2531.6	CONCRETE CURB AND GUTTER DESIGN B624	LIN. FT.	584	\$32.00	\$18,688.00	\$52.00	\$30,368.00	\$41.89	\$24,463.76
2531.6	TRUNCATED DOMES	SQ. FT.	224	\$68.00	\$15,232.00	\$85.00	\$19,040.00	\$74.33	\$16,649.92
		_		-	. ,				
2575.6	SITE RESTORATION	EACH	24	\$150.00	\$3,600.00	\$532.00	\$12,768.00	\$495.00	\$11,880.00
					. ,		. ,	·	
2582.5	4" SOLID LINE PAINT	LIN. FT.	119717	\$0.18	\$21,549.06	\$0.150	\$17,957.55	\$0.150	\$17,957.55
	24" SOLID LINE PAINT	LIN. FT.	38	\$7.50	\$285.00	\$7.000	\$266.00	\$7.000	\$266.00
	4" BROKEN LINE PAINT	LIN. FT.	7900	\$0.18	\$1,422.00	\$0.150	\$1,185.00	\$0.150	\$1,185.00
2582.5	PAVEMENT MESSAGE PAINT	SQ. FT.	49	\$6.50	\$318.50	\$7.500	\$367.50	\$7.500	\$367.50
	CROSSWALK PAINT	SQ. FT.	1548	\$6.50	\$10,062.00	\$3.500	\$5,418.00	\$3.500	\$5,418.00
	•			Engineer's	,	Duininck,	\$1,949,561.65	Central	\$2,049,695.97
				Estimate	\$2,023,526.96	Inc. Total		Specialties Total	1.29% Over

Bid Abstract 2024 Overlay Projects SAP 051-604-032

				Engineer's Estimate		Duininck, Inc.		Central Specialties	
Numahan	Description	Unit	Contract Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
	Description								
2118.5	AGGREGATE SURFACING CLASS 1	TON	2320	\$22.50	\$52,200.00	\$28.25	\$65,540.00	\$33.00	\$76,560.00
2232.5	MILL BITUMINOUS SURFACE (2")	SQ YD	122	\$3.00	\$366.00	\$10.00	\$1,220.00	\$15.00	\$1,830.00
2360.5	TYPE SP 12.5 WEARING COURSE MIXTURI	TON	6040	\$72.00	\$434,880.00	\$68.65	\$414,646.00	\$74.51	\$450,040.40
2582.5	4" SOLID LINE PAINT	LIN FT	53154	\$0.18	\$9,567.72	\$0.150	\$7,973.10	\$0.150	\$7,973.10
2582.5	24" SOLID LINE PAINT	LIN FT	22	\$7.50	\$165.00	\$7.000	\$154.00	\$7.000	\$154.00
2582.5	4" BROKEN LINE PAINT	LIN FT	3920	\$0.18	\$705.60	\$0.150	\$588.00	\$0.150	\$588.00
2582.5	PAVEMENT MESSAGE PAINT	SQ FT	98	\$6.50	\$637.00	\$7.500	\$735.00	\$7.500	\$735.00
				Engineer's		Duininck,	\$490,856.10	Central	\$537,880.50
				Estimate	\$498,521.32	Inc. Total	1.54% Under	Specialties Total	7.90% Over

Bid Abstract 2024 Overlay Projects SP 051-605-010

				Engineer's Estimate		Duininck, Inc.		Central Specialties	
			Contract						
Number	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
2118.5	AGGREGATE SURFACING CLASS 1	TON	4750	\$22.50	\$106,875.00	\$23.75	\$112,812.50	\$23.00	\$109,250.00
2232.5	MILL BITUMINOUS SURFACE (2")	SQ YD	497	\$3.00	\$1,491.00	\$10.00	\$4,970.00	\$8.00	\$3,976.00
2360.5	TYPE SP 12.5 WEARING COURSE MIXTURI	TON	11550	\$72.00	\$831,600.00	\$63.45	\$732,847.50	\$68.48	\$790,944.00
2582.5	4" SOLID LINE PAINT	LIN FT	109339	\$0.18	\$19,681.02	\$0.150	\$16,400.85	\$0.150	\$16,400.85
2582.5	24" SOLID LINE PAINT	LIN FT	34	\$7.50	\$255.00	\$7.000	\$238.00	\$7.000	\$238.00
2582.5	4" BROKEN LINE PAINT	LIN FT	5010	\$0.18	\$901.80	\$0.150	\$751.50	\$0.150	\$751.50
2582.5	PAVEMENT MESSAGE PAINT	SQ FT	98	\$6.50	\$637.00	\$7.500	\$735.00	\$7.500	\$735.00
				Engineer's		Duininck,	\$868,755.35	Central	\$922,295.35
				Estimate	\$961,440.82	Inc. Total	9.64% Under	Specialties Total	4.07% Under

Bid Abstract 2024 Overlay Projects SAP 051-631-011

				Engineer's Estimate		Duininck, Inc.		Central Specialties	
			Contract						
Number	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
2105.6	SHOULDER EXCAVATION	LIN FT	45743	\$1.00	\$45,743.00	\$0.55	\$25,158.65	\$0.25	\$11,435.75
2118.5	AGGREGATE SURFACING CLASS 1	TON	4500	\$22.50	\$101,250.00	\$28.65	\$128,925.00	\$28.00	\$126,000.00
2232.5	MILL BITUMINOUS SURFACE (2")	SQ YD	284	\$3.00	\$852.00	\$10.00	\$2,840.00	\$15.00	\$4,260.00
2260.5	TYPE OF 12 5 WEADING COURSE MINTERS	TON	0010	ф 72.0 0	ФС40 720 00	Ф <i>с</i> 0. <i>с</i> 5	ФС10 52 С 5 0	ф д 2.75	ФССА 40 7 50
2360.5	TYPE SP 12.5 WEARING COURSE MIXTUR	TON	9010	\$72.00	\$648,720.00	\$68.65	\$618,536.50	\$73.75	\$664,487.50
2360.5	TYPE SP 12.5 BIT. MIXTURE FOR PATCHIN	TON	1700	\$80.00	\$136,000.00	\$77.75	\$132,175.00	\$87.00	\$147,900.00
2582.5	4" SOLID LINE PAINT	LIN FT	54010	\$0.18	\$9,721.80	\$0.150	\$8,101.50	\$0.150	\$8,101.50
2582.5	24" SOLID LINE PAINT	LIN FT	12	\$7.50	\$90.00	\$7.000	\$84.00	\$7.000	\$84.00
2582.5	4" BROKEN LINE PAINT	LIN FT	4710	\$0.18	\$847.80	\$0.150	\$706.50	\$0.150	\$706.50
				Engineer's		Duininck,	\$916,527.15	Central	\$962,975.25
				Estimate	\$943,224.60	Inc. Total	2.83% Under	Specialties Total	2.09% Over

Engineer's Grand Total \$5	200 612 70	Duininck,	\$4,935,936.28	Central Specialties	\$5,223,456.47
Grand Total 53	0,200,012.76	Total	5.24% Under	~ F	0.28% Over